Indicator 7: Completeness of Submitting Required Wage Supplemental Reports - 3rd Quarter 2025 This Report was Run 10/17/2025

Large Insurers (400 Claims or more per year)

		Related_			<u>Year</u>	<u>12 qtr</u>
<u>NCCI</u>	<u>INSURER</u>	<u>reports</u>	Omissions	Ratio_complete	To Date	percent
17469	ACUITY INSURANCE CO	130	11	91.54%	88.77%	87.89%
17124	WEST BEND MUTUAL INS CO	195	23	88.21%	89.53%	87.22%
12637	TRAVELERS INDEMNITY CO OF CT	108	13	87.96%	85.06%	84.26%
13579	TRAVELERS PROP CAS CO OF AMER	119	16	86.55%	86.72%	83.83%
15431	ACE FIRE UNDERWRITERS INSURANCE CO	225	32	85.78%	83.49%	85.61%
37877	SENTRY CASUALTY CO	152	26	82.89%	85.85%	87.30%
14354	AIU INS CO	94	21	77.66%	77.92%	80.82%
10863	ZURICH AMERICAN INS CO	122	29	76.23%	79.83%	82.66%
	TOTALS FOR GROUP:	1,145	171	85.07%	85.02%	85.25%
	Year	3,337	500			
	3 Year	13,885	2,048			

Indicator 7: Completeness of Submitting Required Wage Supplemental Reports - 3rd Quarter 2025 This Report was Run 10/17/2025

Medium Size Insurers (65 - 399 Claims or more per year)

NCCI INSURER reports Omissions Ratio complete To Date 27944 XL SPECIALTY INSURANCE COMPANY 9 0 100.00% 95.24% SI COUNTY OF MILWAUKEE 18 0 100.00% 93.33% SI CITY OF MILWAUKEE 72 4 94.44% 93.17% 16446 FEDERATED MUTUAL INS CO 31 3 90.32% 90.72% 21814 LIBERTY INSURANCE CORP 39 3 92.31% 90.35% 15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 86.67%	percent 77.83%
SI COUNTY OF MILWAUKEE 18 0 100.00% 93.33% SI CITY OF MILWAUKEE 72 4 94.44% 93.17% 16446 FEDERATED MUTUAL INS CO 31 3 90.32% 90.72% 21814 LIBERTY INSURANCE CORP 39 3 92.31% 90.35% 15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% SI CITY OF MADISON 12 0 100.00% 86.58% SI </td <td></td>	
SI CITY OF MILWAUKEE 72 4 94.44% 93.17% 16446 FEDERATED MUTUAL INS CO 31 3 90.32% 90.72% 21814 LIBERTY INSURANCE CORP 39 3 92.31% 90.35% 15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% <tr< td=""><td></td></tr<>	
16446 FEDERATED MUTUAL INS CO 31 3 90.32% 90.72% 21814 LIBERTY INSURANCE CORP 39 3 92.31% 90.35% 15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% <td>93.94%</td>	93.94%
21814 LIBERTY INSURANCE CORP 39 3 92.31% 90.35% 15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00%	88.98%
15032 VALLEY FORGE INS CO 14 2 85.71% 90.24% SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	90.55%
SI UW-SYSTEM ADMINISTRATION 22 3 86.36% 90.14% SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	86.96%
SI FEDERAL EXPRESS CORPORATION 15 0 100.00% 89.61% 15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	94.15%
15571 SENTRY INSURANCE COMPANY 51 3 94.12% 89.53% 36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	87.09%
36870 EMPLOYERS ASSURANCE COMPANY 19 1 94.74% 87.50% 11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	85.56%
11509 OLD REPUBLIC INS CO 69 10 85.51% 87.18% 14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	89.66%
14028 GREAT AMERICAN ALLIANCE INS CO 14 5 64.29% 86.67% 17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	83.52%
17965 AMERICAN ZURICH INS CO 89 11 87.64% 86.58% SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	86.51%
SI CITY OF MADISON 12 0 100.00% 86.27% 95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	91.51%
95062 LEAGUE OF WIS MUNICIPALITIES MUTUAL 25 2 92.00% 85.71% 13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	86.42%
13080 NEW HAMPSHIRE INSURANCE CO 16 5 68.75% 85.71% 10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	90.66%
10960 MIDDLESEX INSURANCE CO 30 3 90.00% 85.56%	87.14%
	88.71%
27243 L M INSURANCE CORP 47 9 80.85% 85.28%	87.63%
	86.51%
SI DEPT OF ADMINISTRATION 63 9 85.71% 85.19%	88.50%
10693 VIGILANT INSURANCE CO 14 4 71.43% 84.78%	78.80%
16594 SOCIETY INSURANCE A MUTUAL CO 74 11 85.14% 84.40%	83.53%
22799 SFM MUTUAL INS CO 75 15 80.00% 84.21%	84.56%
24244 UNITED WISCONSIN 55 9 83.64% 82.74%	82.89%
15539 EMPLOYERS MUTUAL CAS CO 51 8 84.31% 82.03%	76.53%
37915 CITIES & VILLAGES MUTUAL INS CO 8 5 37.50% 80.49%	86.84%
16729 ACCIDENT FUND NATIONAL INS CO 16 2 87.50% 80.43%	82.58%
19968 ACCIDENT FUND INS CO OF AMERICA 81 12 85.19% 80.09%	85.95%
17426 SECURA INSURANCE COMPANY 89 21 76.40% 80.08%	78.47%
17035 INTEGRITY INSURANCE CO 24 2 91.67% 80.00%	80.22%
16349 SAFETY NATIONAL CASUALTY CORP 46 9 80.43% 78.47%	77.82%
28355 ARCH INSURANCE CO 19 4 78.95% 78.43%	71.72%
12882 EMCASCO INSURANCE CO 39 12 69.23% 77.44%	76.14%
16144 AUTO OWNERS INS CO 15 3 80.00% 77.36%	88.38%
16853 CHURCH MUTUAL INSURANCE CO S.I. 7 2 71.43% 76.67%	71.00%
35866 FIRST DAKOTA INDEMNITY COMPANY 28 11 60.71% 76.47%	70.00%
14974 TWIN CITY FIRE INS CO 48 20 58.33% 75.80%	80.99%
12165 ACE AMERICAN INSURANCE CO 58 7 87.93% 75.00%	79.47%
18457 ERIE INSURANCE EXCHANGE 15 3 80.00% 73.68%	67.62%
17280 RURAL MUTUAL INS CO 53 16 69.81% 72.84%	76.95%
40533 SECURITY NATIONAL INS CO 26 1 96.15% 72.41%	62.01%
19593 INSURANCE CO OF THE WEST 44 13 70.45% 68.91%	62.17%
SI KWIK TRIP INC 27 8 70.37% 61.54%	63.50%
14397 HARTFORD CASUALTY INS CO 34 15 55.88% 59.60%	73.25%
TOTALS FOR GROUP: 1,601 286 82.14% 82.11%	82.39%
Year 4,785 856	
3 Year 20,147 3,548	

Indicator 7: Completeness of Submitting Required Wage Supplemental Reports - 3rd Quarter 2025 This Report was Run 10/17/2025

Small Size Insurers (Less than 65 Claims per year)

		Related_			<u>Year</u>	<u>12 qtr</u>
<u>NCCI</u>	INSURER	reports	Omissions	Ratio_complete	To Date	percent
SI	WISCONSIN ELECTRIC POWER COMPANY	1	0	100.00%	100.00%	100.00%
SI	COUNTY OF DANE	15	0	100.00%	96.97%	96.67%
SI	MILWAUKEE BOARD OF SCHOOL DIR	12	1	91.67%	90.00%	95.71%
SI	FEDEX FREIGHT INC	2	1	50.00%	71.43%	95.56%
11037	GREAT WEST CASUALTY CO	6	0	100.00%	100.00%	93.24%
11452	AMERICAN GUARANTEE & LIABILITY INS	5	0	100.00%	88.89%	92.94%
12211	BERKSHIRE HATHAWAY HOMESTATE INS	6	0	100.00%	93.75%	92.54%
12122	UNITED FIRE & CASUALTY CO	7	2	71.43%	91.30%	92.50%
12491	ILLINOIS NATIONAL INS CO	8	0	100.00%	100.00%	92.37%
17388	FRANKENMUTH INSURANCE COMPANY	12	1	91.67%	92.68%	91.85%
16586	LIBERTY MUTUAL FIRE INS CO	5	1	80.00%	86.67%	91.07%
SI	SSM HEALTH CARE CORPORATION	1	0	100.00%	57.14%	90.91%
SI	MADISON METROPOLITAN SCHOOL DIST	2	0	100.00%	91.67%	90.79%
25011	ATLANTIC STATES INSURANCE CO	6	0	100.00%	95.24%	89.34%
SI	KOHLER CO	6	1	83.33%	85.00%	89.23%
17272	HASTINGS INSURANCE COMPANY	2	1	50.00%	91.67%	88.42%
SI	MAYO CLINIC HEALTH SYS-NW WI REG INC	10	1	90.00%	88.57%	88.31%
90468	ACCIDENT FUND GENERAL INSURANCE CO	8	2	75.00%	84.38%	88.06%
11002	CITIZENS INSURANCE CO OF AMERICA	14	3	78.57%	84.00%	87.64%
24759	AMERICAN INTERSTATE INS CO	11	1	90.91%	89.19%	86.78%
14451	WESTFIELD INSURANCE CO	1	0	100.00%	83.33%	86.21%
25631	STONINGTON INS CO	1	1	0.00%	57.14%	85.71%
15636	DONEGAL MUTUAL INS CO	2	0	100.00%	90.91%	85.54%
12602	BITCO NATIONAL INS CO	3	0	100.00%	100.00%	85.07%
SI	MILWAUKEE TRANSPORT SERVICES INC	21	1	95.24%	87.80%	84.17%
23957	SELECTIVE INS CO OF SOUTH CAROLINA	9	1	88.89%	82.35%	83.92%
17418	PARTNERS MUTUAL INS CO	8	1	87.50%	84.21%	83.75%
15762	BRICKSTREET MUTUAL INSURANCE CO	6	2	66.67%	69.23%	83.63%
12408	TRANSPORTATION INS CO	9	1	88.89%	73.91%	83.33%
15873	AMERICAN FAMILY MUTUAL INS CO	0	0	0.00%	100.00%	82.54%
15555	EMPLOYERS INSURANCE CO OF WAUSAU	7	1	85.71%	85.71%	82.52%
14850	PEKIN INSURANCE CO	15	3	80.00%	82.05%	82.46%
15318	CHARTER OAK FIRE INS CO	4	1	75.00%	76.92%	82.35%
13439	TRAVELERS INDEMNITY CO OF AMERICA	12	1	91.67%	85.71%	81.90%
25437	INDEMNITY INSURANCE CO OF NORTH AMEI	10	2	80.00%	86.21%	81.44%
11193	STARR INDEMNITY & LIABILITY COMPANY	9	5	44.44%	77.50%	80.81%
11061	REGENT INSURANCE CO	1	0	100.00%	100.00%	80.56%
35629	WIS COUNTY MUTUAL INS CORP	10	0	100.00%	97.44%	80.39%
10480	XL INSURANCE AMERICA INC	13	3	76.92%	78.57%	80.36%
31720	CHUBB INDEMNITY INS CO	5	2	60.00%	77.78%	79.76%
13633	HANOVER INSURANCE CO	2	2	0.00%	73.33%	79.01%
11916	PENN MFRS ASSOCIATION INS CO	4	1	75.00%	91.30%	78.20%
26135	WESCO INSURANCE COMPANY	14	0	100.00%	93.48%	77.70%
15865	WESTERN NATIONAL MUTUAL INS CO	3	2	33.33%	66.67%	77.48%
11053	CONTINENTAL WESTERN INS CO	4	0	100.00%	69.23%	75.34%
11673	ZURICH AMERICAN INS OF IL	9	6	33.33%	76.47%	74.26%
31283	EMPLOYERS PREFERRED INS CO	8	0	100.00%	61.90%	73.21%
15385	CINCINNATI INSURANCE CO	23	7	69.57%	81.03%	72.90%
SI	ROEHL TRANSPORT INC	2	0	100.00%	100.00%	72.86%

Indicator 7: Completeness of Submitting Required Wage Supplemental Reports - 3rd Quarter 2025 This Report was Run 10/17/2025

Small Size Insurers (Less than 65 Claims per year)

		Related_			<u>Year</u>	<u>12 qtr</u>
<u>NCCI</u>	<u>INSURER</u>	<u>reports</u>	Omissions	Ratio_complete	To Date	percent
79475	ARCH INDEMNITY INS CO	7	3	57.14%	61.90%	72.73%
39071	TECHNOLOGY INSURANCE COMPANY	5	0	100.00%	73.68%	70.89%
15660	AMERISURE MUTUAL INS CO	2	1	50.00%	30.77%	68.06%
77148	STARR SPECIALTY INS CO	3	2	33.33%	53.33%	67.61%
12890	FEDERAL INSURANCE CO	6	3	50.00%	72.22%	67.09%
17140	IMT INSURANCE COMPANY	1	5	-400.00%	10.00%	61.82%
	TOTALS FOR GROUP:	378	72	80.95%	83.19%	83.22%
	Year	1,243	209			
	3 Year	5,536	929			